
A
ss

em
bl

e u
pp

er
 p

ar
ts

 o
f l

eg
 u

ni
ts

(1)
Place each upper brace between the tops of two legs.  �read the ¼” X 5” 
machine screws through the bolt holes in the tops of the legs and the slots 
in the upper braces as shown.  Place nuts on the threaded ends of the 
machine screws and tighten the machine screws with a screwdriver.  �e 
nuts will “bite” into the countersinks in the wood at the tops of the legs.  
Tighten “snugly”, but do not overtighten.

A
ss

em
bl

e l
ow

er
 p

ar
ts

 o
f l

eg
 u

ni
ts

(2)

“Square up” each lower brace and position it so the two ends of the lower 
brace are �ush and even with the outside faces of the legs as shown here.  
�en fasten each lower brace to legs with four #8 X 1½” screws.

Face
Edge

TIP: Look at the other pictures for help or
clari�cation on any of the steps if necessary

Edge

Face

Ed
ge

Fa
ce

En
d

#8 X 1½” Flat Head

#8 X 1½” Flat Head

#8 X 1½” Flat Head

#8 X 1½” Flat Head

Fasteners included:
¼” X 5” Machine Screw (4 ea.)
to assemble upper parts of leg units

¼” Hex Nut  (4 ea.)
to assemble upper parts of leg units

#8 X 1½” Flat Head Screw (8 ea.)
for lower braces

#8 X 1½” Washer Head Screw (4 ea.)
for diagonal braces

5/16” X 3½” Carriage bolt (10 ea.)
for leg extensions and to attach leg units

5/16” Hex Nut (2 ea.)
attach leg units

5/16” Flat Washer (2 ea.)
attach leg units

5/16” Fender Washer (8 ea.)
for leg extensions

Wood Wing Nut (8 ea.)
for leg extensions

© 2012 ASHER INDUSTRIES Ltd.

www.level-it.com Assemble your LEVEL-it® quickly & easily

Use these simple hand tools (or power tools).  
Tools NOT included with LEVEL-it®.

ha
m

m
er

cordless (or

corded) driver/drill

Phillips and Flat Screw Drivers

adjustable wrench



�read two 3½” carriage bolts through the two lower holes in 
each leg and through the long slot in each extension.  Place a 
large fender washer and a wood wing nut on the threaded 
end of each bolt and tighten securely.  Make sure the metal 
hex nut that is embedded in the wood wing nut is on the 
outside.

•TIP: To “set” the bolts when you first 
complete this step lightly tap each 
carriage bolt head with a hammer while 
tightening the wood wing nuts with your 
other hand.  �is will slightly sink the 
carriage bolt heads into the wood where 
they will grip well and not work their 
way out.  Most important, it will help 
hold the extensions in place more 
securely for your safety!

A
ss

em
bl

e e
xt

en
sio

ns
 in

 le
g 

un
its

(3)

(4)

A
tta

ch
 le

g 
un

its

(7a)

�read a 3½” carriage bolt down through the 
counterbored holes in the LEVEL-it® top and 
through the holes in the middles of the upper 
braces.  Place a �at washer and a nut over the 
ends of each bolt and tighten securely with a 
wrench.

Remember – lower braces face IN (see picture)

www.level-it.com

“Square up” the leg assemblies to the LEVEL-it® top.  Hold the diagonal 
braces in place against the bottom side of the LEVEL-it® top and the lower 
braces as shown.  Fasten the two diagonal braces with #8 X 1½“ washer head 
screws as shown. 

(5)

A
tta

ch
 d

ia
go

na
l b

ra
ce

s

note how tops of legs are 
parallel to bottom edge of 
LEVEL-it® top

low
er

 b
ra

ce

lower brace

dia
go

na
l b

rac
e

diagonal brace

bottom side of LEVEL-it® top

Remember – lower brace
s fa

ce IN (se
e pictu

re)

Upper side has 

counterbored hole

© 2012 ASHER INDUSTRIES Ltd.

video instructions are at this webpage:
http://www.level-it.com/lvl/assembly.php

complete photographic assembly instructions are at:
http://www.level-it.com/dcs_fr/instruct.php

a webpage of assembly instructions which may be translated into your 
language is at:   http://www.level-it.com/usg/

our new
wood wingnuts 

look like thisYou may perform the steps labelled 
“Assemble extensions in leg units” (3) and 
“Attach leg units” (4) in any order.

You may perform the steps labelled 
“Assemble extensions in leg units” (3) and 
“Attach leg units” (4) in any order.

outside



What do you do with yours?

© 1999 ASHER INDUSTRIES Ltd.

made by ASHER INDUSTRIES Ltd. of Oregon U.S.A.

ExcellenceQuality
   Economy   Utility

Have you tried the rest?  Here’s an end to your quest.
Put LEVEL-it® to the test.  You'll see it's th

e best!

Professional Quality Tools for Everyone!

Do It Right!

D

o It Yourse
lf !

purveyors of excellent products     www.level-it.com

A
 tr

ul
y U

niversal Product!  W
orks w

ith all brands of t

oo
ls

!!

Just a few of the tools that can mount 
right onto your LEVEL-it®!
Wow!  �at’s REALLY Amazing!!
(We regret to say tools are not included.)

Now you are free from dedicated 
tools that take up so much space.  
With LEVEL-it® you can have as 
many bench top tools as you like and 
take them on & o� your LEVEL-it® 
as desired or have several 
LEVEL-it®’s!  �ey stack for storage!  
With LEVEL-it® any shop (no 
matter how small) is big enough for 
just about any project!  So build away!

®

Here at ASHER INDUSTRIES Ltd. we abhor waste.

we
 h

av
e u

til
iz

ed
 ev

er
y 

let
te

r i
n 

th
e E

ng
lis

h 
alp

ha
be

t i
n 

th
is 

lab
el.

�
er

ef
or

e



Tips for  LEVEL-it®  users
Finishing tips

Sand all rough edges and corners.  For use outside in wet weather disassemble leg extensions and apply a clear solvent or acrylic base sealer to 
all wood parts.  When parts are dry reassemble leg extensions.

Tips for use
�e LEVEL-it® has slots down the center of the top.  �is is so you can mount tools, jigs, our DOG-it™, our TOP-it™ and other things 
directly on it!  You can also mount your own jigs, small bench tools, hold down clamps, etc. directly onto your LEVEL-it®.  Some items will 
�rst need to be mounted to a suitable board (such as a piece of scrap plywood) and then that board will mount directly onto your 
LEVEL-it® as shown directly below.  (Use screws or nuts & bolts to mount as appropriate)

Make sure to CHECK THE WING NUTS ON THE LEG EXTENSIONS OFTEN to make sure  they are tight.  Loose wing nuts will 
not support your work.  

An occasional drop of oil on each of the eight leg extension carriage bolts will keep them working very smoothly, particularly in wet locations.

MAXIMUM WEIGHT CAPACITY per LEVEL-it® is 450 POUNDS

Always work safely and carefully.  Follow the instructions for all of your tools 
to avoid accidents and injury to yourself and/or others.

LEVEL-it® top

boards

Chop Saw

© 2001  Asher Industries Ltd.

Router Table

�e Tools
mount on the

which mount on the

Make a DOG-it™ bench stop.  It is like a classic “Bench Dog” and used to help hold 
your work.

DOG-it™ consists of the pieces shown: Cut an approximately 2¼“ X 2¼” X ½” 
hardwood piece with both ends (where the end grain is) milled at a 2° angle.  When 
it’s cut to size drill a 5/16” countersunk hole centered on the top face as shown.
Fastener items shown are widely available at hardware, building supply and home 
center stores.

Where you fasten the DOG-it™ on the LEVEL-it® top will depend on the the work 
you plan to do.

5/16” X 2½” Machine Screw

LEVEL-it® top

Hardwood piece
(endgrain cut at 2° angle)

2° angle

5/16” Fender Washer

5/16” Wing Nutwww.level-it.com


